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Plots in right column only
include 60<x<100

All initial
values are
mapped to
zero:
extinction

Stable fixed
point at
1-1/r=1/2

Stable
oscillations
around fixed
point 1-1/r
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Plots in right column only
include 60<x<100

2-cycle fixed
point, jumping
between points
on either side of
(unstable) 1-1/r

A continuous
range of values
in [0,1] are being
visited. No
periodicity, no
limiting value.

Now all values of x

{ in [0,1] are visited;

curve eventually

{1 becomes

continuous

1 x(n+1)=rx(n)(1-x(n))

for x in [0,1].
Varies erratically in
range [0,1].



